

Purchase Order

finisterre

Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

PO-FS-6019

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£11,340.00

Washcare Label Code

RT05FFW8479

Promise Date	Factory	Billing Phone			
Item	Description	Season Launch	Cost	Quantity	Amount
212898	Culfer Plated Jumper W, Harbour Teal/Oatmeal, 6	AW26	£21.00	16	£336.00
212899	Culfer Plated Jumper W, Harbour Teal/Oatmeal, 8	AW26	£21.00	70	£1,470.00
212900	Culfer Plated Jumper W, Harbour Teal/Oatmeal, 10	AW26	£21.00	133	£2,793.00
212901	Culfer Plated Jumper W, Harbour Teal/Oatmeal, 12	AW26	£21.00	115	£2,415.00
212902	Culfer Plated Jumper W, Harbour Teal/Oatmeal, 14	AW26	£21.00	60	£1,260.00
212903	Culfer Plated Jumper W, Harbour Teal/Oatmeal, 16	AW26	£21.00	40	£840.00
212904	Culfer Plated Jumper W, Harbour Teal/Oatmeal, 18	AW26	£21.00	16	£336.00

Total £11,340.00



PO-FS-6019

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6027

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£14,743.08

Washcare Label Code

RT05FFW8473

Promise Date	Factory	Billing Phone			
Item	Description	Season Launch	Cost	Quantity	Amount
211873	Tolcarne Gansey Jumper, Lighthouse Red, 6	AW26	£21.90	21	£459.90
211874	Tolcarne Gansey Jumper, Lighthouse Red, 8	AW26	£21.90	118	£2,584.20
211875	Tolcarne Gansey Jumper, Lighthouse Red, 10	AW26	£21.90	155	£3,394.50
211876	Tolcarne Gansey Jumper, Lighthouse Red, 12	AW26	£21.90	117	£2,562.30
211877	Tolcarne Gansey Jumper, Lighthouse Red, 14	AW26	£21.90	78	£1,708.20
211878	Tolcarne Gansey Jumper, Lighthouse Red, 16	AW26	£21.90	56	£1,226.40
211879	Tolcarne Gansey Jumper, Lighthouse Red, 18	AW26	£21.90	16	£350.40

Total £14,743.08



PO-FS-6027

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6038

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£31,410.00

Washcare Label Code

RT05FFW8443

Promise Date	Factory	Billing Phone			
Item	Description	Season Launch	Cost	Quantity	Amount
211943	Mora Crew Neck Cardigan, Mahogany Brown, 6	AW26	£25.00	33	£825.00
211944	Mora Crew Neck Cardigan, Mahogany Brown, 8	AW26	£25.00	206	£5,150.00
211945	Mora Crew Neck Cardigan, Mahogany brown, 10	AW26	£25.00	284	£7,100.00
211946	Mora Crew Neck Cardigan, Mahogany Brown, 12	AW26	£25.00	233	£5,825.00
211947	Mora Crew Neck Cardigan, Mahogany brown, 14	AW26	£25.00	160	£4,000.00
211948	Mora Crew Neck Cardigan, Mahogany Brown, 16	AW26	£25.00	105	£2,625.00
211949	Mora Crew Neck Cardigan, Mahogany Brown, 18	AW26	£25.00	26	£650.00

Total £31,410.00



PO-FS-6038

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6039

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£8,748.00

Washcare Label Code

RT05FFU8501

Promise Date

Factory

SC Angar Prod SRL

Billing Phone

Item	Description	Season Launch	Cost	Quantity	Amount
212954	Barents Beanie, Indigo, One Size	AW26	£8.10	900	£7,290.00

Total £8,748.00



PO-FS-6039



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6041

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£5,160.00

Washcare Label Code

RT05FFU8502

Promise Date

Factory

SC Angar Prod SRL

Billing Phone

Item	Description	Season Launch	Cost	Quantity	Amount
212956	Culfer Plated Beanie, Harbour Teal, One Size	AW26	£8.60	500	£4,300.00

Total £5,160.00



PO-FS-6041



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6043

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£5,976.00

Washcare Label Code

RT08FFU8537

Promise Date	Factory	Billing Phone
	Knitex 96 JSC	

Item	Description	Season Launch	Cost	Quantity	Amount
212211	Mora Beanie, Mushroom, One Size	AW26	£8.30	600	£4,980.00

Total £5,976.00



PO-FS-6043



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6025

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£38,377.80

Washcare Label Code

RT05FFW8463

Promise Date	Factory	Billing Phone			
Item	Description	Season Launch	Cost	Quantity	Amount
212940	Amy Powney x Finisterre Fisherman Rib Crew Jumper, Earth, 6	AW26	£30.90	34	£1,050.60
212941	Amy Powney x Finisterre Fisherman Rib Crew Jumper, Earth, 8	AW26	£30.90	209	£6,458.10
212942	Amy Powney x Finisterre Fisherman Rib Crew Jumper, Earth, 10	AW26	£30.90	283	£8,744.70
212943	Amy Powney x Finisterre Fisherman Rib Crew Jumper, Earth, 12	AW26	£30.90	226	£6,983.40
212944	Amy Powney x Finisterre Fisherman Rib Crew Jumper, Earth, 14	AW26	£30.90	153	£4,727.70
212945	Amy Powney x Finisterre Fisherman Rib Crew Jumper, Earth, 16	AW26	£30.90	104	£3,213.60
212946	Amy Powney x Finisterre Fisherman Rib Crew Jumper, Earth, 18	AW26	£30.90	26	£803.40

Total £38,377.80



PO-FS-6025

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6029

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£32,706.00

Washcare Label Code

RT02FFW8483

Promise Date	Factory	Billing Phone			
Item	Description	Season Launch	Cost	Quantity	Amount
211936	Merrose Fair-Isle High Neck, Brown/Oatmeal/Olive, 6	AW26	£39.50	23	£908.50
211937	Merrose Fair-Isle High Neck, Brown/Oatmeal/Olive, 8	AW26	£39.50	141	£5,569.50
211938	Merrose Fair-Isle High Neck, Brown/Oatmeal/Olive, 10	AW26	£39.50	189	£7,465.50
211939	Merrose Fair-Isle High Neck, Brown/Oatmeal/Olive, 12	AW26	£39.50	149	£5,885.50
211940	Merrose Fair-Isle High Neck, Brown/Oatmeal/Olive, 14	AW26	£39.50	101	£3,989.50
211941	Merrose Fair-Isle High Neck, Brown/Oatmeal/Olive, 16	AW26	£39.50	69	£2,725.50
211942	Merrose Fair-Isle High Neck, Brown/Oatmeal/Olive, 18	AW26	£39.50	18	£711.00

Total £32,706.00



PO-FS-6029

1 of 1

Purchase Order

finisterre

Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

PO-FS-6030

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£37,110.00

Washcare Label Code

RT05FFW8443

Promise Date	Factory	Billing Phone			
Item	Description	Season Launch	Cost	Quantity	Amount
211950	Mora Crew Neck Cardigan, Evergreen, 6	AW26	£25.00	38	£950.00
211951	Mora Crew Neck Cardigan, Evergreen, 8	AW26	£25.00	241	£6,025.00
211952	Mora Crew Neck Cardigan, Evergreen, 10	AW26	£25.00	334	£8,350.00
211953	Mora Crew Neck Cardigan, Evergreen, 12	AW26	£25.00	278	£6,950.00
211954	Mora Crew Neck Cardigan, Evergreen, 14	AW26	£25.00	192	£4,800.00
211955	Mora Crew Neck Cardigan, Evergreen, 16	AW26	£25.00	124	£3,100.00
211956	Mora Crew Neck Cardigan, Evergreen, 18	AW26	£25.00	30	£750.00

Total £37,110.00



PO-FS-6030

1 of 1

Purchase Order

finisterre

Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

PO-FS-6032

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£27,668.64

Washcare Label Code

RT05FFW8445

Promise Date	Factory	Billing Phone			
Item	Description	Season Launch	Cost	Quantity	Amount
211964	Mora Jumper W, Anchor Blue, 6	AW26	£23.60	25	£590.00
211965	Mora Jumper W, Anchor Blue, 8	AW26	£23.60	177	£4,177.20
211966	Mora Jumper W, Anchor Blue, 10	AW26	£23.60	259	£6,112.40
211967	Mora Jumper W, Anchor Blue, 12	AW26	£23.60	233	£5,498.80
211968	Mora Jumper W, Anchor Blue, 14	AW26	£23.60	165	£3,894.00
211969	Mora Jumper W, Anchor Blue, 16	AW26	£23.60	98	£2,312.80
211970	Mora Jumper W, Anchor Blue, 18	AW26	£23.60	20	£472.00

Total £27,668.64



PO-FS-6032

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6544

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£42,624.00

Washcare Label Code

RT05FFM8421

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
211120	Barents Jumper, Harbour Teal, XS	AW26	£22.20	48	£1,065.60
211121	Barents Jumper, Harbour Teal, S	AW26	£22.20	176	£3,907.20
211122	Barents Jumper, Harbour Teal, M	AW26	£22.20	560	£12,432.00
211123	Barents Jumper, Harbour Teal, L	AW26	£22.20	512	£11,366.40
211124	Barents Jumper, Harbour Teal, XL	AW26	£22.20	256	£5,683.20
211125	Barents Jumper, Harbour Teal, XXL	AW26	£22.20	48	£1,065.60

Total £42,624.00



PO-FS-6544

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6036

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£24,780.00

Washcare Label Code

RT08FFW8451

Promise Date	Factory	Billing Phone			
Item	Description	Season Launch	Cost	Quantity	Amount
212006	Nova Aran Jumper, Oatmeal, 6	AW26	£35.00	22	£770.00
212007	Nova Aran Jumper, Oatmeal, 8	AW26	£35.00	127	£4,445.00
212008	Nova Aran Jumper, Oatmeal, 10	AW26	£35.00	164	£5,740.00
212009	Nova Aran Jumper, Oatmeal, 12	AW26	£35.00	121	£4,235.00
212010	Nova Aran Jumper, Oatmeal, 14	AW26	£35.00	80	£2,800.00
212011	Nova Aran Jumper, Oatmeal, 16	AW26	£35.00	59	£2,065.00
212012	Nova Aran Jumper, Oatmeal, 18	AW26	£35.00	17	£595.00

Total £24,780.00



PO-FS-6036

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6049

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£46,673.28

Washcare Label Code

RT05FFM8421

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
212524	Barents Jumper, Lighthouse Red, XS	AW26	£22.20	53	£1,176.60
212525	Barents Jumper, Lighthouse Red, S	AW26	£22.20	193	£4,284.60
212526	Barents Jumper, Lighthouse Red, M	AW26	£22.20	613	£13,608.60
212527	Barents Jumper, Lighthouse Red, L	AW26	£22.20	560	£12,432.00
212528	Barents Jumper, Lighthouse Red, XL	AW26	£22.20	280	£6,216.00
212529	Barents Jumper, Lighthouse Red, XXL	AW26	£22.20	53	£1,176.60

Total £46,673.28



PO-FS-6049

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6051

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£67,958.64

Washcare Label Code

RT05FFM8421

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
211120	Barents Jumper, Harbour Teal, XS	AW26	£22.20	60	£1,332.00
211121	Barents Jumper, Harbour Teal, S	AW26	£22.20	231	£5,128.20
211122	Barents Jumper, Harbour Teal, M	AW26	£22.20	772	£17,138.40
211123	Barents Jumper, Harbour Teal, L	AW26	£22.20	805	£17,871.00
211124	Barents Jumper, Harbour Teal, XL	AW26	£22.20	513	£11,388.60
211125	Barents Jumper, Harbour Teal, XXL	AW26	£22.20	170	£3,774.00

Total £67,958.64



PO-FS-6051

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6053

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£49,310.64

Washcare Label Code

RT05FFM8421

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
204822	Barents Jumper, Pecan, XS	AW26	£22.20	45	£999.00
204823	Barents Jumper, Pecan, S	AW26	£22.20	172	£3,818.40
204824	Barents Jumper, Pecan, M	AW26	£22.20	571	£12,676.20
204825	Barents Jumper, Pecan, L	AW26	£22.20	585	£12,987.00
204826	Barents Jumper, Pecan, XL	AW26	£22.20	363	£8,058.60
204827	Barents Jumper, Pecan, XXL	AW26	£22.20	115	£2,553.00

Total £49,310.64



PO-FS-6053

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6044

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£5,328.00

Washcare Label Code

RT05FFU8505

Promise Date

Factory

Knitex 96 JSC

Billing Phone

Item	Description	Season Launch	Cost	Quantity	Amount
212957	Mora Knitted Hood, Raven, One Size	AW26	£11.10	400	£4,440.00

Total £5,328.00



PO-FS-6044



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6045

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£89,510.40

Washcare Label Code

RT05FFM8421

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
204798	Barents Jumper, Indigo, XS	AW26	£22.20	43	£954.60
204799	Barents Jumper, Indigo, S	AW26	£22.20	225	£4,995.00
204800	Barents Jumper, Indigo, M	AW26	£22.20	536	£11,899.20
204801	Barents Jumper, Indigo, L	AW26	£22.20	1,161	£25,774.20
204802	Barents Jumper, Indigo, XL	AW26	£22.20	951	£21,112.20
204803	Barents Jumper, Indigo, XXL	AW26	£22.20	444	£9,856.80

Total £89,510.40



PO-FS-6045

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6047

19/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£84,049.20

Washcare Label Code

RT05FFM8421

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
204810	Barents Jumper, Olive, XS	AW26	£22.20	44	£976.80
204811	Barents Jumper, Olive, S	AW26	£22.20	348	£7,725.60
204812	Barents Jumper, Olive, M	AW26	£22.20	895	£19,869.00
204813	Barents Jumper, Olive, L	AW26	£22.20	1,008	£22,377.60
204814	Barents Jumper, Olive, XL	AW26	£22.20	609	£13,519.80
204815	Barents Jumper, Olive, XXL	AW26	£22.20	251	£5,572.20

Total £84,049.20



PO-FS-6047

1 of 1

Purchase Order

finisterre

Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom**Shipping Address**

PO-FS-6020

19/11/2025

Vendor
Robert Todd & Son Ltd**TOTAL****£29,898.00****Washcare Label Code**

RT02FFW8482

Promise Date	Factory	Billing Phone			
Item	Description	Season Launch	Cost	Quantity	Amount
212905	Lerryn Fair-Isle Cardi, Oatmeal/Brown/Blue, 6	AW26	£45.30	22	£996.60
212906	Lerryn Fair-Isle Cardi, Oatmeal/Brown/Blue, 8	AW26	£45.30	121	£5,481.30
212907	Lerryn Fair-Isle Cardi, Oatmeal/Brown/Blue, 10	AW26	£45.30	154	£6,976.20
212908	Lerryn Fair-Isle Cardi, Oatmeal/Brown/Blue, 12	AW26	£45.30	110	£4,983.00
212909	Lerryn Fair-Isle Cardi, Oatmeal/Brown/Blue, 14	AW26	£45.30	71	£3,216.30
212910	Lerryn Fair-Isle Cardi, Oatmeal/Brown/Blue, 16	AW26	£45.30	55	£2,491.50
212911	Lerryn Fair-Isle Cardi, Oatmeal/Brown/Blue, 18	AW26	£45.30	17	£770.10

Total £29,898.00

PO-FS-6020

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6003

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£15,235.20

Washcare Label Code

RT05FFM8438

Promise Date	Factory	Billing Phone
	SC Angar Prod SRL	

Item	Description	Season Launch	Cost	Quantity	Amount
212851	Tolcarne Gansey Jumper , Navy, S	AW26	£23.00	17	£391.00
212851	Tolcarne Gansey Jumper , Navy, S	AW26	£23.00	61	£1,403.00
212852	Tolcarne Gansey Jumper , Navy, M	AW26	£23.00	193	£4,439.00
212853	Tolcarne Gansey Jumper , Navy, L	AW26	£23.00	176	£4,048.00
212854	Tolcarne Gansey Jumper , Navy, XL	AW26	£23.00	88	£2,024.00
212855	Tolcarne Gansey Jumper , Navy, XXL	AW26	£23.00	17	£391.00

Total £15,235.20



PO-FS-6003

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6012

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£73,594.98

Washcare Label Code

RT05FFM8422

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
204834	Mora Jumper, Navy, XS	AW26	£25.65	31	£795.15
204835	Mora Jumper, Navy, S	AW26	£25.65	165	£4,232.25
204836	Mora Jumper, Navy, M	AW26	£25.65	571	£14,646.15
204837	Mora Jumper, Navy, L	AW26	£25.65	805	£20,648.25
204838	Mora Jumper, Navy, XL	AW26	£25.65	562	£14,415.30
204839	Mora Jumper, Navy, XXL	AW26	£25.65	257	£6,592.05

Total £73,594.98



PO-FS-6012

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6016

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£42,814.98

Washcare Label Code

RT05FFM8422

Promise Date	Factory	Billing Phone
	SC Angar Prod SRL	

Item	Description	Season Launch	Cost	Quantity	Amount
211066	Mora Jumper, Anchor Blue, XS	AW26	£25.65	36	£923.40
211067	Mora Jumper, Anchor Blue, S	AW26	£25.65	136	£3,488.40
211068	Mora Jumper, Anchor Blue, M	AW26	£25.65	445	£11,414.25
211069	Mora Jumper, Anchor Blue, L	AW26	£25.65	441	£11,311.65
211070	Mora Jumper, Anchor Blue, XL	AW26	£25.65	259	£6,643.35
211071	Mora Jumper, Anchor Blue, XXL	AW26	£25.65	74	£1,898.10

Total £42,814.98



PO-FS-6016

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6015

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£51,094.80

Washcare Label Code

RT05FFM8422

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
211060	Mora Jumper, Olive, XS	AW26	£25.65	39	£1,000.35
211061	Mora Jumper, Olive, S	AW26	£25.65	150	£3,847.50
211062	Mora Jumper, Olive, M	AW26	£25.65	502	£12,876.30
211063	Mora Jumper, Olive, L	AW26	£25.65	524	£13,440.60
211064	Mora Jumper, Olive, XL	AW26	£25.65	334	£8,567.10
211065	Mora Jumper, Olive, XXL	AW26	£25.65	111	£2,847.15

Total £51,094.80



PO-FS-6015

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6010

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£14,040.00

Washcare Label Code

RT05FFM8448

Promise Date	Factory	Billing Phone
	SC Angar Prod SRL	

Item	Description	Season Launch	Cost	Quantity	Amount
212892	Mora Roll Neck, Navy, XS	AW26	£29.25	12	£351.00
212893	Mora Roll Neck, Navy, S	AW26	£29.25	44	£1,287.00
212894	Mora Roll Neck, Navy, M	AW26	£29.25	140	£4,095.00
212895	Mora Roll Neck, Navy, L	AW26	£29.25	128	£3,744.00
212896	Mora Roll Neck, Navy, XL	AW26	£29.25	64	£1,872.00
212897	Mora Roll Neck, Navy, XXL	AW26	£29.25	12	£351.00

Total £14,040.00



PO-FS-6010

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6013

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£60,636.60

Washcare Label Code

RT05FFM8422

Promise Date	Factory	Billing Phone
	SC Angar Prod SRL	

Item	Description	Season Launch	Cost	Quantity	Amount
211072	Mora Jumper, Ginger, XS	AW26	£25.65	39	£1,000.35
211073	Mora Jumper, Ginger, S	AW26	£25.65	156	£4,001.40
211074	Mora Jumper, Ginger, M	AW26	£25.65	542	£13,902.30
211075	Mora Jumper, Ginger, L	AW26	£25.65	617	£15,826.05
211076	Mora Jumper, Ginger, XL	AW26	£25.65	443	£11,362.95
211077	Mora Jumper, Ginger, XXL	AW26	£25.65	173	£4,437.45

Total £60,636.60



PO-FS-6013

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6004

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£12,475.20

Washcare Label Code

RT05FFM8438

Promise Date	Factory	Billing Phone
	SC Angar Prod SRL	

Item	Description	Season Launch	Cost	Quantity	Amount
212856	Tolcarne Gansey Jumper , Olive, XS	AW26	£23.00	14	£322.00
212857	Tolcarne Gansey Jumper , Olive, S	AW26	£23.00	50	£1,150.00
212858	Tolcarne Gansey Jumper , Olive, M	AW26	£23.00	158	£3,634.00
212859	Tolcarne Gansey Jumper , Olive, L	AW26	£23.00	144	£3,312.00
212860	Tolcarne Gansey Jumper , Olive, XL	AW26	£23.00	72	£1,656.00
212861	Tolcarne Gansey Jumper , Olive, XXL	AW26	£23.00	14	£322.00

Total £12,475.20



PO-FS-6004

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6009

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£19,375.20

Washcare Label Code

RT05FFM8448

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
212886	Mora Roll Neck, Olive, XS	AW26	£29.25	17	£497.25
212887	Mora Roll Neck, Olive, S	AW26	£29.25	61	£1,784.25
212888	Mora Roll Neck, Olive, M	AW26	£29.25	193	£5,645.25
212889	Mora Roll Neck, Olive, L	AW26	£29.25	176	£5,148.00
212890	Mora Roll Neck, Olive, XL	AW26	£29.25	88	£2,574.00
212891	Mora Roll Neck, Olive, XXL	AW26	£29.25	17	£497.25

Total £19,375.20



PO-FS-6009

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6007

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£13,643.52

Washcare Label Code

RT05FFM8442

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
212874	Mora 1/4 Zip, Navy, XS	AW26	£32.30	11	£355.30
212875	Mora 1/4 Zip, Navy, S	AW26	£32.30	39	£1,259.70
212876	Mora 1/4 Zip, Navy, M	AW26	£32.30	123	£3,972.90
212877	Mora 1/4 Zip, Navy, L	AW26	£32.30	112	£3,617.60
212878	Mora 1/4 Zip, Navy, XL	AW26	£32.30	56	£1,808.80
212879	Mora 1/4 Zip, Navy, XXL	AW26	£32.30	11	£355.30

Total £13,643.52



PO-FS-6007

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6005

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£11,520.00

Washcare Label Code

RT05FFM8443

Promise Date	Factory	Billing Phone			
	SC Angar Prod SRL				
Item	Description	Season Launch	Cost	Quantity	Amount
212862	Culfer Jumper, Oatmeal/Harbour Teal, XS	AW26	£24.00	16	£384.00
212863	Culfer Jumper, Oatmeal/Harbour Teal, S	AW26	£24.00	50	£1,200.00
212864	Culfer Jumper, Oatmeal/Harbour Teal, M	AW26	£24.00	145	£3,480.00
212865	Culfer Jumper, Oatmeal/Harbour Teal, L	AW26	£24.00	120	£2,880.00
212866	Culfer Jumper, Oatmeal/Harbour Teal, XL	AW26	£24.00	53	£1,272.00
212867	Culfer Jumper, Oatmeal/Harbour Teal, XXL	AW26	£24.00	16	£384.00

Total £11,520.00



PO-FS-6005

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6014

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£42,476.40

Washcare Label Code

RT05FFM8422

Promise Date	Factory	Billing Phone
	SC Angar Prod SRL	

Item	Description	Season Launch	Cost	Quantity	Amount
212536	Mora Jumper, Mushroom, XS	AW26	£25.65	33	£846.45
212537	Mora Jumper, Mushroom, S	AW26	£25.65	127	£3,257.55
212538	Mora Jumper, Mushroom, M	AW26	£25.65	421	£10,798.65
212539	Mora Jumper, Mushroom, L	AW26	£25.65	436	£11,183.40
212540	Mora Jumper, Mushroom, XL	AW26	£25.65	274	£7,028.10
212541	Mora Jumper, Mushroom, XXL	AW26	£25.65	89	£2,282.85

Total £42,476.40



PO-FS-6014

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6008

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£15,504.00

Washcare Label Code

RT05FFM8442

Promise Date	Factory	Billing Phone
	SC Angar Prod SRL	

Item	Description	Season Launch	Cost	Quantity	Amount
212880	Mora 1/4 Zip, Earth, XS	AW26	£32.30	16	£516.80
212881	Mora 1/4 Zip, Earth, S	AW26	£32.30	50	£1,615.00
212882	Mora 1/4 Zip, Earth, M	AW26	£32.30	143	£4,618.90
212883	Mora 1/4 Zip, Earth, L	AW26	£32.30	120	£3,876.00
212884	Mora 1/4 Zip, Earth, XL	AW26	£32.30	55	£1,776.50
212885	Mora 1/4 Zip, Earth, XXL	AW26	£32.30	16	£516.80

Total £15,504.00



PO-FS-6008

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6006

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£17,490.00

Washcare Label Code

RT05FFM8426

Promise Date	Factory	Billing Phone
	SC Angar Prod SRL	

Item	Description	Season Launch	Cost	Quantity	Amount
212868	Columba Cardi, Navy, XS	AW26	£26.50	11	£291.50
212869	Columba Cardi, Navy, S	AW26	£26.50	55	£1,457.50
212870	Columba Cardi, Navy, M	AW26	£26.50	203	£5,379.50
212871	Columba Cardi, Navy, L	AW26	£26.50	182	£4,823.00
212872	Columba Cardi, Navy, XL	AW26	£26.50	88	£2,332.00
212873	Columba Cardi, Navy, XXL	AW26	£26.50	11	£291.50

Total £17,490.00



PO-FS-6006

1 of 1



Finisterre UK Limited

Billing Address
Unit 6-7 Wheal Kitty
Workshops,
Wheal Kitty,
St Agnes Cornwall
TR50RD
United Kingdom

Shipping Address

Purchase Order

PO-FS-6011

18/11/2025

Vendor
Robert Todd & Son Ltd

TOTAL

£27,848.16

Washcare Label Code

RT05FFM8471

Promise Date	Factory	Billing Phone			
Item	Description	Season Launch	Cost	Quantity	Amount
212530	Selfost Nordic Jumper, Olive/Ecru/Vintage Brown, XS	AW26	£24.90	23	£572.70
212531	Selfost Nordic Jumper, Olive/Ecru/Vintage Brown, S	AW26	£24.90	87	£2,166.30
212532	Selfost Nordic Jumper, Olive/Ecru/Vintage Brown, M	AW26	£24.90	286	£7,121.40
212533	Selfost Nordic Jumper, Olive/Ecru/Vintage Brown, L	AW26	£24.90	294	£7,320.60
212534	Selfost Nordic Jumper, Olive/Ecru/Vintage Brown, XL	AW26	£24.90	183	£4,556.70
212535	Selfost Nordic Jumper, Olive/Ecru/Vintage Brown, XXL	AW26	£24.90	59	£1,469.10

Total

£27,848.16



PO-FS-6011

1 of 1